Wednesday 10" June

L.K: To interpret time graphs

Today you will be looking at a time graph and interpreting the data. This means that you will
be looking at the graph and figuring out what happened at different times using a diary
format. In the diary the boy, Leo, who has been on a bike ride, is discussing what happened
at each time period in the graph. You will need to either fill in the times or fill in what you
think happened at that point. The graph is below. Have a read through it and try and figure
out what has happened at each point.
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Activity #1

Match what happened to the times at which it happened. Remember, if the graph is going

up slowly then Leo was moving slower. If it moves up quickly then he has sped up and is
going much faster!
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Activity #2

This is an optional activity. What else could have been happening at each time period? How
do you know you’re right? This would be 3 star work!
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